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1. Answer the following questions : 1x10=10
o] 2PTIRY Ted

(a) Mention one importance of normal
distribution.

TN ID49 0] SAPIFS! Sag 47 |
(b} When is F-test used?
F-o37%] (3foq TaER 491 28 2

(c) Give one property of t-test.
t-oRr b1 CIEy fora |
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(2)

(d) Mention one cause of heteroscedasticity.

ReafRva=1 9o1 24 IR S|y F41 |

(e} When does specification error arise?

Rew Rera &b ofom e = 2

(/ What is linear equation?

AR W 2

(g) Write the full form of BLUE.
BLUER =9 S o171 |

(h) Define coefficient of determination.

NP Y25 = A

() If the error term is not distributed

normally with 62 variance, what type of
problem may arise?

I FH oMbl MRT ReIm SRS o2 ferer
T, (SR’ (IR TP B8 '3 ?

() What is critical region?
o ¢ 52
2. Answer the following questions : 2x5=10
Soiq PR Tad fua |

(a) Mention two properties of estimators.

GrFeTed 701 CIMB) BrEy 91 |
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(3)

(b) What does an error term represent?

&f6 *m GO f& wifw 2

(c) Mention two sources of autocorrelation.
FICTOTTAI 01 BesT Brad 0 |

(d) When does heteroscedasticity arise?
Rgafvem cefom Ted = ?

(e) Distinguish between one-tailed test and
two-tailed test.

IT- IR W 2 RRER YRR Twe
o127 foram |

3. Answer any four of the following questions :
5x4=20

woR PP R @A siikier T fi

(a) What is normal distribution? Mention
the properties of normal distribution. 1+4=5

ARG T 3 2 SYRT THR CEPTR o |

(bp) What is hypothesis testing? What are

the various steps of hypothesis testing?
1+4=5

AT T 2 o077 AR [fSq @R
foram |
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( 4)

(c) Explain type-I and type-II error. S
g9 AP & WE @S vy @ o qmam
faam |

- (d) Explain the concept of regression.
Discuss the importance of regression in

€economics. 2+3=5
IR YRAIHT A7 F90 | HLASS A
BFg 4E JADA 390 |

(e) Distinguish between multicollinearity
and autocorrelation.

IPTTE HF  JAODETE AEo AN
AT I |

(f/ Explain the method of measuring the
goodness of fit in a multiple regression
model.

I PR W3 Tey @l Ay €|
*TfSCo! M F |

4. Answer the following questions : 10x4=40
Tod PR el
(a) Estimate the regression lines from the
following data : 10
fAafii® ©YR /1 X3 8*_® YT ERET Q@
P& 941 :

X : 78 89 97 69 59 79 68 61
Y : 125 137 156 112 107 136 123 108
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Or / 991

Explain the consequences of auto-
correlation on OLS estimation. How can
autocorrelation be corrected? 4+6=10

OLS Yoo TAATRE Fel®eidd I
11 3 AT (A9 ST AR 2

What is test of significance? Mention the
various steps associated with tests of
significance. 3+7=10

TS ArH 2 LTS J PR A FHS
ATCTPTYR SCad 41 |

Or / J4T1

Explain the consequences of multi-
collinearity. 10

IPTITTTR SRR AT I |

State and prove Gauss-Markov theorem
for PB; in linear regression model
Y, =By +B,X; +u;, where B, and B, are
parameters and u, is stochastic term. 10

Y, =Bg +B, X, +u, FRREI Q@IN YRS
TR-TRTS SOl & AF A9 41 | TS B,
I B, 2AT6A W I uy Fio WA |
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(6)

Or / 9171

Distinguish between null hypothesis and
alternative hypothesis. When is chi-
square distribution used? A random
sample of 5 students from a class was
taken. The marks scored by them are 80,
40, 50, 90 and 80. Does these sample
observations confirm that the class
average is 70? [Tabulated value of
t=2.78 corresponding to (n —-1) d.f.].

2+3+5=10
e S o Res Sqam Tw1 ond o
chi-3s Re9 (ST TR 1 =W ? 901 &
5 1 R TR SRENCed @R ¥ |
CSSER] TR % 80, 40, 50, 90 WF 80
W, 9@} MWW A RT E 70 I
oS FCAA? [t=2-78T UFRHE W
(n-1) d.f I RN S

(d) Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy

variable in seasonal analysis? Explain.
5+5=10

ATHe1H T RS9 (HY &' RNWRFAR vore
FCAE TJIA I W, IR T wpefes
Rom@ crae ofSsd voe Rt IR 30
=W 7 AN A0
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(7))

Or / 941

Explain how specification error may
arise if irrelevant variable is included in a
linear regression model. Explain the
consequences of specification error. 4+6=10

TPRPISE 5ol aNl Rew Rwa o @emes
TET W AR I? G Fod AR A
0 '

* % %
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